
 

Prüfungsaufgaben Aufgabe 94b 
 

 

 
 
 

3. 

 

Im Dreieck MAB gilt: 
 

BM = BF/2 = 11 cm/2 = 5,5 cm 
                

                    BM      5,5 cm    

sin ∡ MAB = ----- = --------- = 0,2115 --> ∡ MAB = 12,21° 

                    AB       26 cm 

 
Im Dreieck MAB gilt: 

 

∡ MAB = ∡ MDC 

 
CM = CE/2 = 10,6 cm/2 = 5,3 cm 

                
                    CM       

sin ∡ MDC = ----- | * DC     

                    DC        
 

sin ∡ MDC * DC = CM | : sin ∡ MDC 
 

               CM              5,3 cm   
DC = ------------- = ------------- = 25,1 cm 

         sin ∡ MDC      sin 12,21° 

 



A = MKegel1 + MKegel2 + AKreisring 

 
A = π * BM * AB + π * CM * CD + π * (BM² - CM²) 

 
A = π * 5,5 * 26 + π * 5,3 * 25,1 + π * (5,5² - 5,3²) cm² 

 
A = 873,5 cm² 

 


